

1) Mathematical modelling is the process of representing the relationship between two entities, quantities or variable with mathematical equations.

ii) a) By the use of the mass balance equation

b) By differentiating algebraic equation with constants

Question 2.

$$r = (t^2 + 3t)i - (2\sin 3t)j + 3e^{2t}k$$

$$i) \frac{dr}{dt} = 2t + 3i - 6\cos 3tj + 6e^{2t}k$$

$$ii) \frac{d^2r}{dt^2} = 2i + 18\sin 3tj + 12e^{2t}k$$

$$\text{at } t=0 \Rightarrow 2i + 18\sin 3(0)j + 12e^{2(0)}k$$

$$\left| \frac{d^2r}{dt^2} \right| = \sqrt{2^2 + 12^2} \\ \Rightarrow 2\sqrt{37}$$

Question 3

$$A = x^2y \mathbf{i} + (xy + yz) \mathbf{j} + xz^2 \mathbf{k}$$

$$B = yz \mathbf{i} - 3xz \mathbf{j} + 2xy \mathbf{k}$$

$$\phi = 3x^2y + xyz - 4y^2z - 3$$

(i) $\nabla \phi$

$$\Rightarrow \left(\frac{\partial}{\partial x} \mathbf{i} + \frac{\partial}{\partial y} \mathbf{j} + \frac{\partial}{\partial z} \mathbf{k} \right) (3x^2y + xyz - 4y^2z - 3)$$

$$\Rightarrow \frac{\partial \phi}{\partial x} \mathbf{i} + \frac{\partial \phi}{\partial y} \mathbf{j} + \frac{\partial \phi}{\partial z} \mathbf{k}$$

$$\Rightarrow (6xy + yz) \mathbf{i} + (3x^2 + xz - 8yz) \mathbf{j} + (xy - 8y^2) \mathbf{k}$$

at $(1, 2, 1) \Rightarrow 14 \mathbf{i} - 12 \mathbf{j} - 30 \mathbf{k}$

(ii) $\nabla \cdot A$

$$\Rightarrow \left(\frac{\partial}{\partial x} \mathbf{i} + \frac{\partial}{\partial y} \mathbf{j} + \frac{\partial}{\partial z} \mathbf{k} \right) \cdot (x^2y \mathbf{i} + (xy + yz) \mathbf{j} + xz^2 \mathbf{k})$$

$$\Rightarrow \frac{\partial (x^2y)}{\partial x} + \frac{\partial (xy + yz)}{\partial y} + \frac{\partial (xz^2)}{\partial z}$$

$$\Rightarrow 2xy + x + z + 2xz$$

at $(1, 2, 1)$

$$2(-)(2) + 1 + 1 + 2(1)(1)$$

$$\Rightarrow 8$$

$$11) \nabla \times B$$

$$\Rightarrow \begin{vmatrix} \mathbf{i} & \mathbf{j} & \mathbf{k} \\ \frac{\partial}{\partial x} & \frac{\partial}{\partial y} & \frac{\partial}{\partial z} \\ yz & -3xz & 2xy \end{vmatrix}$$

$$\Rightarrow \left(\frac{\partial}{\partial y} \cdot 2xy - \frac{\partial}{\partial z} \cdot (-3xz) \right) \mathbf{i} - \left(\frac{\partial}{\partial x} \cdot 2xy - \frac{\partial}{\partial z} \cdot (yz) \right) \mathbf{j} + \left(\frac{\partial}{\partial x} \cdot (-3xz) - \frac{\partial}{\partial y} \cdot (yz) \right) \mathbf{k}$$

$$\Rightarrow (2x + 3x) \mathbf{i} - (2y - y) \mathbf{j} + (-3z - z) \mathbf{k}$$

$$5x \mathbf{i} - y \mathbf{j} - 4z \mathbf{k} \quad \text{at } (1, 2, 1)$$

$$5 \mathbf{i} - 2 \mathbf{j} - 4 \mathbf{k}$$

$$12) \text{grad div } A$$

$$\nabla(\nabla \cdot A)$$

$$\Rightarrow \nabla \cdot A = \left(\frac{\partial}{\partial x} + \frac{\partial}{\partial y} + \frac{\partial}{\partial z} \right) \cdot (x^2y \mathbf{i} + (xy + yz) \mathbf{j} + xz^2 \mathbf{k})$$

$$\Rightarrow 2xy + x + z + 2xz$$

$$\nabla(\nabla \cdot A) = \left(\frac{\partial}{\partial x} \mathbf{i} + \frac{\partial}{\partial y} \mathbf{j} + \frac{\partial}{\partial z} \mathbf{k} \right) \cdot (2xy + x + z + 2xz)$$

$$\Rightarrow \frac{\partial}{\partial x} \mathbf{i} (2xy + x + z + 2xz) + \frac{\partial}{\partial y} \mathbf{j} (2xy + x + z + 2xz) + \frac{\partial}{\partial z} \mathbf{k} (2xy + x + z + 2xz)$$

$$= (2y + 2z) \mathbf{i} + (2x) \mathbf{j} + (2x + 1) \mathbf{k} \quad \text{at } (1, 2, 1)$$

$$\Rightarrow 7 \mathbf{i} + 2 \mathbf{j} + 3 \mathbf{k}$$

$$13) \text{Curl (Curl } A)$$

$$\Rightarrow \nabla \times (\nabla \times A)$$

$$\Rightarrow (\nabla \cdot A) \nabla - (\nabla \cdot \nabla) A$$

$$\therefore \nabla \cdot A \Rightarrow 2xy + x + z + 2xz$$

$$\nabla \cdot \nabla \Rightarrow \left(\frac{\partial}{\partial x} + \frac{\partial}{\partial y} + \frac{\partial}{\partial z} \right) \cdot \left(\frac{\partial}{\partial x} + \frac{\partial}{\partial y} + \frac{\partial}{\partial z} \right)$$

$$\Rightarrow \nabla^2 \Rightarrow \left(\frac{\partial^2}{\partial x^2} + \frac{\partial^2}{\partial y^2} + \frac{\partial^2}{\partial z^2} \right)$$

$$\Rightarrow \nabla \times (\nabla \times A)$$

$$= \left(\frac{\partial}{\partial x} \mathbf{i} + \frac{\partial}{\partial y} \mathbf{j} + \frac{\partial}{\partial z} \mathbf{k} \right) \left(2xy \mathbf{i} + (x+z) \mathbf{j} + 2xz \mathbf{k} \right) - \left(\frac{\partial^2}{\partial x^2} + \frac{\partial^2}{\partial y^2} + \frac{\partial^2}{\partial z^2} \right) \cdot A$$

$$\Rightarrow (2y + 2z + 1) \mathbf{i} + 2xz \mathbf{j} + (2x + 1) \mathbf{k} - (2y \mathbf{i} + 2x \mathbf{k})$$

$$\Rightarrow (2z + 1) \mathbf{i} + 2xz \mathbf{j} + \mathbf{k} \quad \text{at } (1, 2, 1)$$

$$\Rightarrow (2(1) + 1) \mathbf{i} + 2(1) \mathbf{j} + \mathbf{k}$$
$$3 \mathbf{i} + 2 \mathbf{j} + \mathbf{k}$$